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Kc‘cﬁéfao;?mnﬂ for Mathematics and Sclence
SAMPLE PAPER SECOND TERM (SA-II)
MATHEMATICS

(Wit Answers)
. CLASS X

‘General Instructions :
D) Al questions are compuisory.
(n) The question paper eansists of 34 questions divided into fonr sec
comyprises of 10 gquestions of [ mark each. Section B comprise
Section C comprises af I O qrmnom (;f 3 umr&s each (md Secti

4 marks each. '
(i} Question nmmbers 1o [0in Secnon Aare mn!np!e f..-"rm
correct aption ont of the given four... -
(V) There is no overall chaice. H(me:wn imternal cholce hen
mark s, 3 gquestions of three marks each and 2 gue
only one of the altematives i all mdr quem
(1) Usé of calciilators is riot prennitted; :

nestions of 2 marks cach,:
comprises of 6 questions of.

tjons where yan are to selectone

1 provided in I question of twar:
tons of fonr marks each. Yon have 1o attempt” o

. Questions numbers 1 to 10 are of ane mar

1. A balloon is connected to a inete

60° 10 the horizontal. Assume that there $/70's
ground ] s
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30 i 154 root uf thc quldll{)l] X~ + Lr— iy = () lhu] lhb VJ]I]L of,k is -

4. Which term of the AP, 92, 88, 84, 80, ... 1502 : \/
@23 o RO
PRI i T - A{d) W I e S

.5 PD Jnd P? are Idnﬂ(.l'll‘i toa Cll't.,lL wnh centre O and radius 5 em. If PQ = 1'3l c 1 p ritmoter
of quadnlalc_ral PQOT is o

. {a) 24 cem-
(¢} {7Tcm
6. The value of & so that tht, sum of the roots of lhc cieinch
ts equad to the product of the roots is :
{cr) 4
(cy 2
7.10f lhc suny 0f i'rql n tt,rms ot an A P is gm, by

N (a} Gn. ; co by 8.'1 -7 e
e '}"n#(_”' o A{d) Sn—"'

8. Three coins are tossed sunull‘mwus[} thest the probability of getting L\dLlIy one huid is -
I 1

(a) 3 (b 5
3 5

¢) = =

{c) S 3

of the circle will be
(a) 56cm
{(c) l4em
10. A cylinder, a

volumes is
{a) 3:2

s () 2

9. A wire, in the shap«&qm of side 88 cm, is bend s0 as to form u circutar ring. The radius -

(b) 28 c¢m

: ((n 4’) Cm . L -
¢ and a henu sph{_rc are of equal base and same hcmhl Thc mtlo ot' thc1r_ a

A solid qphcrc of radius 3 cm is melted dnd then ru,astt,d into small spherical bd“‘\ Uf dtannlcr '
0.6 crFind the number of small balls thus obtained.




_ 12. A cm.ul.lr g"v;qy piol ol iand 4’? m in dr.mn.u.r has a path. 3.5 m mdc r:mnmz_ round n on thc"
outside. Find the cost of g gravelling the path it ¥ § per sqirare metre.

13, A paper is in the form of a rectangle ABCD in which AB = 20 cm dnd BC = {4 Cm; A
circular portion with BC as diameter is cut o, Find the area ol a renmining part.

14 e

Al By
+ 20 cm > TR
14, Fh{, ﬁ(!u Oflht.. bases of two right circular solid ¢ones of same b ‘iz drc rl and r rwpu_m L]\"

The cones are melted and recast into a solid sphere of radius K. Show 4@ eight of each cone is
given by ' '

4R
Y
f{. + r')

Ir=

15. Two eancentric circles of l“idll em dnd ? em. Bi
which touches the smaller circle. s _
16. The centre of u circle is (”a - [ 7} and 1t pdssca Ihr()l
the eircle is 20 units, then f‘nd the vahies (JFU. i

(l 'Ihc eagth of the chord ol targer circle - -

the point (= 3. - 1). If the diameter of -

Show that the’ pomlc; (~ 2 3) (3 4) .md (7 ]

17. Solve for x : a*b*x* + box ~ a*x — | ).

18 The king, queen and Jack ol heart

shumcd One card is selected from Ihb l't.n'ldml . 'rrds Find the probdblhly ol vt.ltm!.
() the ‘2 ofhearts. - ¢ _ iy 10" of red suit.

Question nambers 19 to 28 darey 3n ks each. F T P |
19, ‘Draw a right triangle AB AB =45 em AC=7.5cm .md .48 9(}° Construct a an'll]dl'_;

.'Imng]c whose sides are 4/5%ines the sides ol the (l’['ll'ILlL ABC R
20. n figure, PO < PR. p ST

s that QM ="MR.

Q \Ji R ' -
hat the pcrpcn(lrcu]clr at the point of contact to the tangent to a circle passes through thb'._

_ Two men on either side of « ¢lilf 100 m high ebserve the angles of elevation of the top of Ih'c_'
cliff t 30° and 60° respectively. Find the distance between the two men. [Use V3 = 1.732]




23, PQRS is a rectangle in which length is two times the breadth and L is mid point of PQ. With P
and @ as centreés; draw two quadmm«: as shown in I‘ﬂurc F:nd the r'mo of the area ol rcc.lanﬂ]t, PQRS 10

thc area ot '\hddt.,d pumon )

o P L Q o
Flnd the area of Ihc. ‘ihddt_d l'c“lOl'l in FLurt, lf AC 24 ¢ BC= : O is the centre of the

urch,

25. Prove lhat 1he area of 4 Imnglc whme t.(:ordmalcs are (r r-« 2} (r + ’?3 r+ ‘3') and (! + 3 r) is
independent of 1. .
26. Two dice are thrown sunulmnt,ou*:lv Wh.u is Ih{: probability that
(i) 4 will not come np on c¢i of them 7 '
.. (ify 4 will come up on at Jeast o
(ffiy 4 will come up at hothdice ? .- - :
27. I pth, gth and rth term © A P. are a, b. ¢ rcsptctwcly, timn show llm
alg—r) Thie~py+clp—q) =0, .

: Or
Find four numhers imAP. whose sum is 20 and the sum of whose squares is 120.
28, Two numbges dilter by 4 and their product is 192, Find the numbers.

S or

The differenceBetveen two numbers is 7. If the difference of their reciprocals is 30" find the two




Question nambers 29 1o 34 carry 4 marks each.
29. A cireus tent of total height 50 netres is to be made in the form of u right urc.u]ar cy]mdu-'_"
surmounted by u right cireular cone. I the hLléh[ and' radius of the conical portion of the tent dl‘L 15
metres und 20 metres respectively. Find the cost of the cloth rcqumd. at the rate of T 14 per sduare

to make the tent, ' L G e . _{Takes :—?“-_]f S

o Or - .. . e
A meraltic right circalar cone 20 em high and whose vertical angle is 60° is cut into th partsut the
middle ol its height by u plane paraliel to the base, If the frustum so obtained Bedrwn ihto a wire of ©

diameter T}g cm, Tind the fength of the wire.

+30. Ram can row a boat 8 km downstream and retarn in | hour 40
stream is 2 kmv/h, find the speed of the boat in still water.
o Or S

A fast lmin lakci'; 3 h'ouri: h'_'a*; [hdll aslow Il“lil‘l ['or ajourney ol'6 If the Spc(:d of lh’c'sléw train -

' uIc.:;.. If the speed of the -

n+l n S :
. « + b :
32 b e ls [hL A M betwccn a andt
oa + b :

33, Show that the pomts (a a} (—~ a, g
triangle. Also, find its area.

34, A circle touches the sides of a quuadrilateral ABCD wt P, Q. R, § respectively. Show that the -
angles subtended at the centre by a pair ol opposite sides are supplementary. '

- Section ‘A’ .
1. (@ : 2 () S R




o el Tl VR S RELRT Fa s 1 IR e, A

A B (O TR e 6. (@)

Lo Seetion (BT
-1 Num balls = 1000.0 122 T 4004 s s
© 1307 Area of the remaining part = 203 em? ' :
15, "Length of the chord of Targer circle = § em 16, a=~4.2
g G 1 - . :

wo men = 230.8 m:
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